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WORK SHEET
SECOND TERM
SUBJECT- MATHEMATICS
Chapter -9, 10 & 11
(Boxes and Sketches, Tenths and Hundredths, Area and its Boundary)
CLASS-V

10.

11.

12.
13.

Arrange in ascending order :

0.002, 0.02, 0.2, 2.0.

Arrange in descending order

21.111, 12.121, 22.121, 22.111

Add :

a)  463.23+ 55.555+ 444.5+ 6.503

b)  228.18 +72.65 + 115.38

Evaluate : a) 126.84 — 151.6 + 218.931
b) 296+152-69

Draw the net of a cuboid in three different ways.

If the distance between two towns is 90km. Find the distance between them in the
map if 1cm = 12km.

Draw the net of a dice in two different ways.

Meena’s sister in America had sent her 12 USA dollars as a gift. She used Rs. 525 for
books. How much money was left with her? (1 USA dollar = Rs. 62.50)

A brick has a length of 22c¢m, breadth of 6cm and height of Scm. What is the volume
of 5 bricks?

Write in metres.

a) 89 centimetre = metres.
b) 15 metre 2 centrimetre = metres.
c) 1 centimetre = metre.

How many pens can Radha buy in Rs. 120, if the cost of a pen is Rs. 13. How much
money is left with her?

If Dinesh grows 55cm more then his height will be 2 metre. What is his height today?
Temperature of Jaipur at 3 PM = 42.8°C.

How many degrees will the temperature need to rise for it to reach 45°C in Jaipur.
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15. Cost of an egg is Rs. 5, find the cost of two and half dozen eggs?

16. Find the volume of —
a) A cuboid having length 22cm, breadth 12cm and height 8cm.
b) A cube of side 15cm.

17. The fencing of a square garden is 24m. Find the area of a garden.

18. How many square stamps of side Scm can fit on to a page of length 90cm and breadth
25cm?

19. Draw four different rectangles of area 24 sq.cm.

a) Find the perimeter of each rectangle.
b) Which rectangle has largest perimeter?

c¢) Find the difference between largest and smallest perimeter.
20. Draw four different rectangles having the same perimeter of 18cm.

a) Find the area of each rectangle.

b) Find the difference between largest and smallest area.
21. How many square cakes each of side 4cm can be arranged on a tray of length

80cm and breadth 60cm?
22. Draw a square of 16 sq.cm. Name it as A. Draw another square with the double

size of A . Name it as B.
a) Find the side of A and B.
b) Find the relation between the area of A and B.

c) Find the relation between the perimeter of A and B.
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